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Q.1 Tmprove the sentence by choosing the right option to replace the underlined text:
I am tired as T am working since 6 O' clock in the morning.
a. 1have been working
b. 1was working
c. Thad been working
d. No improvement needed

Ans (A.‘|
75 B.2
2 cC.3
K D4

Question ID : 4774414664
Status : Answered
Chosen Option : 1

Q2 Fingd the part of the sentence that has errors in if:

My brother-in-laws (P) / are coming to (Q) / visit us next week. (R) / no error (S)
a.

» W0

b
€.
d.
Ans  of A 1
5 B.2
K c3
25 D.4

Question ID : 4774414670
Status : Answered
Chosen Option : 1
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Q.3

Find the analogy

Tractor: Trailer :: Horse : ?
a. Stable
b. Cart
e Engine
d. Saddle

Ans A 1

B2

K c3

5 D.4

Question ID : 4774414675
Status : Answered
Chosen Option : 4

Q4 Convert the sentences from Direct/Indirect speech to Indirect/Direct speech:
The wife asked the husband if he was going to the office.
a. The wife asked to the husband, “Was T going 1o the office?”
b.  The wite said the husband, “Are you going to the office?’
¢.  The wife said. “‘Am I going to the office?”
d.  The wite asked the husband. “Will you go to the oftice?”

Ans A 1

B2
K c3
75 D.4
Question ID : 4774414672
Status : Answered
Chosen Option : 4
Q.5 wWhen the boss entered the class. I on the whiteboard.
a. wrote
b. was writing
C. writes
d. is writing
Ans K A1
B2
K c3
5 D.4

Question ID : 4774414651
Status : Answered
Chosen Option : 2
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@® Find out the correctly spelled word.

(P) Agressive
(Q)Agrressive
(R)Aggressive
(S) Aggresive
a. P
b. Q
c. R
d S
Ans X A 1
5 B.2
Wwcs
N D4

Question ID : 4774414655
Status : Answered
Chosen Option : 3

Q.7 Improve the sentence by choosing the right option to replace the underlined text:
Sardar Vallabhbhai Patel was a charismatic leader. isn't he?

a. didn’t he
b.  doesn’the
¢ wasn’t he
d.  No unprovement needed
Ans XA 1
5 B.2
s
5 D.4

Question ID : 4774414666
Status : Answered
Chosen Option : 3

@8 Choose the correct antonym

Minor
a. consequential
b. lesser
B slight
d. paltry

Ans  of A 1

K B.2

K c3

S D.4

Question ID : 4774414660
Status : Answered
Chosen Option : 4
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Q.9 Choose the most suitable idiom to replace the underlined text from the following
sentence.

He managed all his emplovees with a high hand.
a. lovingly
b. casually
&, oppressively
d. none of the above

Ans X A 1
K B.2
s
S D.4

Question ID : 4774414663
Status : Answered
Chosen Option : 1

%1% How many glasses of water today?
a. you have drank
b. were you drinking
C. did you drink
d. do you drink

Ans A 1

X B.2

Wcs

/X D.4

Question ID : 4774414652
Status : Answered
Chosen Option : 3

Q.11

Improve the sentence by choosing the right option to replace the underlined text:
The girl asked her father to explain the meaning of that sign.
a. told her father
b.  said to her father
c.  tell her father
d.  No improvement needed

Ans A 1
5 B.2
K c3
v S

Question ID : 4774414667
Status : Answered
Chosen Option : 4
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%2 Find out the correctly spelled word.

(P) Gaurantee
(Q)Garuntee
(R) Guarantee
(S) Guaruntee
.

R Vel

b.
o
d

Ans A 1
K B.2
s
5 D.4

Question ID : 4774414656
Status : Answered
Chosen Option : 3

Q13 Find the part of the sentence that has errors in it:

Ram was (P)/ senior to (Q) / Shyam in the college (R)/ no error (S)
a.

o d

b.
C.
d.
Ans A 1
75 B.2
K ca3
o D4

Question ID : 4774414668
Status : Answered
Chosen Option : 4

Q14 Find the part of the sentence that has errors in it:
David was (P)/ listening songs (Q)/ of Bryan Adams (R)/ no error (S)

o "

Question ID : 4774414669
Status : Answered
Chosen Option : 2
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@15 Choose the correct antonym
Quiet
a. repose
b. agitate
C. Tull
d. hush
Ans }( A1
B2
K c3
S D.4
Question ID : 4774414659
Status : Answered
Chosen Option : 4
%% Find the analogy
Melt : Liquid :: Freeze : ?
a. Ice
b. Condense
€. Solid
d Liquid
Ans A 1
X B.2
Wcs
K D.4

Question ID : 4774414674
Status : Answered
Chosen Option : 3

@17 Choose the correct synonym

Attractive
a repellent
b. disenchanting
C repulsive
d. enticing

Ans A 1

5 B.2

K c3

WD

Question ID : 4774414657
Status : Answered
Chosen Option : 3
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Q.18 Choose the most suitable idiom to replace the underlined text from the following
sentence.

Given the performance Raj recorded in last financial year. he was expecting that his
promotfion is on the cards.

a. due
b. evident
C. possible
d. certain
Ans A 1
5 B.2
Wcs
K D.4
Question ID : 4774414661
Status : Answered
Chosen Option : 4
4" Find the analogy
South : North-West :: West: ?
a. North
b. South-West
) North-East
d. East
Ans A 1
5 B.2
W C3
S D4

Question ID : 4774414673
Status : Answered
Chosen Option : 3

Q.20 Improve the sentence by choosing the right option to replace the underlined text:
The teacher took the maths test to the students last week.

a. was raking the marths test

b. had took

fof gave the maths test

d No improvement needed

Ans  BC A 1
X B.2
s
K D.4

Question ID : 4774414665
Status : Answered
Chosen Option : 3
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Q.21 Convert the sentences from Direct/Indirect speech to Indirect/Direct speech:
“Satish made this mess. Let him clear it up". said his boss.
a. Satish's boss said that Safish had made the mess and proposed that he clear 1t up.
b. Satish’s boss said that Satish had made the mess and that he was to clear it.
¢. Satish's boss said that Satish had made the mess and suggested that he clear it.
d. Satish's boss said that Satish had made the mess and that he should clear it.

Ans A 1
K B.2
K c3
W D4

Question ID : 4774414671
Status : Answered
Chosen Option : 2

92 Find out the correctly spelled word.,
(P) Recommandation

(Q)Recommendation
(R)Recomandation
(S) Recomendation
a. P
b. Q
& R
d: 8
Ans XA 1
B2
K c3
K D4

Question ID : 4774414654
Status : Answered
Chosen Option : 2

Q.23 Choose the most suitable idiom to replace the underlined text from the following

sentence.
It was only after that he joined the company. he realized that he was not cut out for this
kind of job profile.

a. suitable

b. trained

(o considered

d. recommended

Ans “A.1
75 B.2
S cC.3
K D4

Question ID : 4774414662
Status : Answered
Chosen Option : 1
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924 Choose the correct synonym
Assist
a. thwart
b. encumber
ol abet
d. impede
Ans X A 1
75 B.2
s
K D.4
Question ID : 4774414658
Status : Not Answered
Chosen Option : ==
@25 The couple went to the town to rent a house.

a. looked at the best site
b.  looked out the best site
c looking for the best site
d.  looking after the best site
Ans X' A 1
X B.2
s
S D.4

Question ID : 4774414653
Status : Answered
Chosen Option : 3
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Comprehension:

Read the statements below and answer the next four questions based on these statements:
There are six cities A, B, C, D, E and T which are hill station, industrial city and

historic place, may not in that order

A is not a hill station.

B and E are not historical places.

D is not an industrial city.

A and D are not historical cities.

A and B are not alike.

SubQuestion No : 26
Q.26 Which city is a hill station and an industrial city but not a historic place?
a. B

F
. E
D

X D.4

Question ID : 4774414680
Status : Answered
Chosen Option : 2

Comprehension:

Read the statements below and answer the next four questions based on these statements:
There are six cities A, B, C, D, E and T which are hill station, industrial city and

historic place, may not in that order

A is not a hill station.

B and E are not historical places.

D is not an industrial city.

A and D are not historical cities.

A and B are not alike.

SubQuestion No : 27
Q27 Which of the following are industrial cities?

a. Aand B
b. CandD
C. E and F
d. None of the above
Ans A 1
X B.2
Wcs
X D4

Question ID : 4774414677
Status : Answered
Chosen Option : 1
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Comprehension:

Read the statements below and answer the next four questions based on these statements:
There are six cities A, B, C, D, E and T which are hill station, industrial city and

historic place, may not in that order

A is not a hill station.

B and E are not historical places.

D is not an industrial city.

A and D are not historical cities.

A and B are not alike.

SubQuestion No : 28
Q.28 Which of the following are historic places?

a. Aand B
b. CandF
C. Band D
d BandE
Ans A1
W B2
K cC3
X D.4

Question ID : 4774414678
Status : Answered
Chosen Option : 2

Comprehension:

Read the statements below and answer the next four questions based on these statements:
There are six cities A, B, C, D, E and T which are hill station, industrial city and

historic place, may not in that order

A is not a hill station.

B and E are not historical places.

D is not an industrial city.

A and D are not historical cities.

A and B are not alike.

SubQuestion No : 29
Q.29 Which two cities are hill stations?

a. Aand B
b. Aand C
c. BandD
d. None of the above
Ans A1
X B.2
WcCs
X D4

Question ID : 4774414679
Status : Answered
Chosen Option : 4
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Comprehension:

Read the paragraph below and answer the next three questions based on the paragraph
below:

Eight friends P. Q. R, S, T, U, V and W are sitting in a closed circle facing the center.
P is second to the right of T who is the neighbour of R and V. S is not the neighbour of P.
V is the neighbour of U. Q is not between S and W. U is befween V and S.

SubQuestion No : 30

@30 () is sitting between

a. Rand S
b. Pand W
C. UandP
d. Rand T
Ans X A1
W B2
X cs3
N D.4

Question ID : 4774414684
Status : Answered
Chosen Option : 2

Comprehension:

Read the paragraph below and answer the next three questions based on the paragraph
below:

Eight friends P. Q. R, S, T, U, V and W are sitting in a closed circle facing the center.
P is second to the right of T who is the neighbour of R and V. S is not the neighbour of P.
V is the neighbour of U. Q is not between S and W. U is befween V and S.

SubQuestion No : 31

@3 Who is sitting left of U?
d.
b.
C.
d.
Ans 3 A1
X B.2
X cs3
W D4

w0

Question ID : 4774414682
Status : Answered
Chosen Option : 4
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Comprehension:

Read the paragraph below and answer the next three questions based on the paragraph
below:

Eight friends P. Q. R, S, T, U, V and W are sitting in a closed circle facing the center.
P is second to the right of T who is the neighbour of R and V. S is not the neighbour of P.
V is the neighbour of U. Q is not between S and W. U is befween V and S.

SubQuestion No : 32

@32 Who 1s sitting diagonally opposite of T?

A O o
w0

Ans X A 1
X B.2
W C.3
K D.4

Question ID : 4774414683
Status : Answered
Chosen Option : 3

Comprehension:

Read the paragraph below and answer the nexi four questions based on the paragraph
below:

Six persons P, Q. R. S, T and U are seated in two rows facing each other. three in each.
T is not at the end of any of the rows. S is second to the left of U. R. the neighbor of
T. 15 seating diagonally opposite 10 S. Q is the neighbor of T

SubQuestion No : 33
@33 Which of the following are in the same row?

a. Pand Q
b. Rand S
6: Sand Q
d. Rand U
Ans 3 A1
X B.2
o C.3
X D4

Question ID : 4774414688
Status : Answered
Chosen Option : 3
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Comprehension:

Read the paragraph below and answer the nexi four questions based on the paragraph
below:

Six persons P, . R. 8. T and U are seated in two rows facing each other. three in each.
T is not at the end of any of the rows. S is second to the left of U. R. the neighbor of
T. 15 seating diagonally opposite 10 S. Q is the neighbor of T

SubQuestion No : 34

Q.34 After interchanging seats with T, who will be the neighbour of S in the new position?

a. PandR
b. QandU
o Pand 17
d.  Nomne of the above

Ans  of A 1
X B.2
X cs3
X D4

Question ID : 4774414689
Status : Answered
Chosen Option : 4

Comprehension:

Read the paragraph below and answer the nexi four questions based on the paragraph
below:

Six persons P, . R. 8. T and U are seated in two rows facing each other. three in each.
T is not at the end of any of the rows. S is second to the left of U. R. the neighbor of
T. 15 seating diagonally opposite 10 S. Q is the neighbor of T

SubQuestion No : 35

@35 Which of the following are seated diagonally opposite to each other?

a. Pand U
b. Tand S
& QandR
d None of the above

Ans {A_1
X B.2
X cs3
X D4

Question ID : 4774414686
Status : Answered
Chosen Option : 1
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Comprehension:

Read the paragraph below and answer the nexi four questions based on the paragraph
below:

Six persons P, . R. 8. T and U are seated in two rows facing each other. three in each.

T is not at the end of any of the rows. S is second to the left of U. R. the neighbor of
T. 15 seating diagonally opposite 10 S. Q is the neighbor of T

SubQuestion No : 36

@36 Who is facing Q?

a. P
b. R
6 S
d. T

Ans A1
X B.2
K cs3
o D4

Question ID : 4774414687
Status : Answered
Chosen Option : 4

Comprehension:

Read the paragraph below and answer the next three questions based on the paragraph
below:

M. N. O P. Q. R and S are family members and there are two married couples i two
generations of people who live in the same house. M is father of spouse of O. R is the maternal

Uncle of S who is not a male. M is brother-in-law of R. P and S are sisters of each other. QQ is
son of N. O is a femimine gender.

SubQuestion No : 37

7 If L is maternal uncle of S then how is L related to Q?
a. Cousin
b. Son
. Uncle
d. Brother

Ans A1
X B.2
o C3
X D.4

Question ID : 4774414691
Status : Answered
Chosen Option : 3
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Q.38

Ans

Comprehension:

Read the paragraph below and answer the next three questions based on the paragraph

below:

M. N. O P. Q. R and S are family members and there are two married couples i two
generations of people who live in the same house. M is father of spouse of O. R is the maternal
Uncle of S who is not a male. M is brother-in-law of R. P and S are sisters of each other. QQ is
son of N. O is a femimine gender.

SubQuestion No : 38

How 1s M related to P?

a.
b.
C.
d.
o A
X B.2

X cs
X D4

Father
Brother
Grandfather
Uncle

Question ID : 4774414693
Status : Answered
Chosen Option : 1

Ans

Comprehension:

Read the paragraph below and answer the next three questions based on the paragraph

below:

M. N. O P. Q. R and S are family members and there are two married couples i two

generations

of people who live in the same house. M is father of spouse of O. R is the maternal

Uncle of S who is not a male. M is brother-in-law of R. P and S are sisters of each other. QQ is
son of N. O is a feminine gender.

SubQuestion No : 39

oo o

25 A1
X B.2
o C.3
X D4

@3 1f I is grandchild of M then how is N related to J?

Sister
Daughter
Grandmother

. Mother

Question ID : 4774414692
Status : Answered
Chosen Option : 3
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Q40 Check out the given series and identify the next pair in the series:
PQR, STU, VWX, ?

a. YZA
b. ZYA
C. ABC
8 CDE
Ans « A1
5 B.2
K c3
5 D.4

Question ID : 4774414696
Status : Answered
Chosen Option : 1

Q41 Check out the given series and identify the next pair in the series:

A6l C8G, EIOE, ?

a. HIZ2E
b. G12C
C. 114A
d JI2H
Ans A 1
B2
K c3
K D4

Question ID : 4774414697
Status : Answered
Chosen Option : 2

Q.42 1fg certain code SPECIAL is coded as 191605030901 12, BREAD as 0218050104,
how is FUTURE coded in that code?

a. 202118210510
b. 062021201905
c. 062120211805
d. 201821180510
Ans X A1
75 B.2
s
KX D4

Question ID : 4774414699
Status : Answered
Chosen Option : 3
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Q.43 Pointing out a man receiving the prize, Rahul said, “He is the brother of my uncle’s son.”
Who is the man to Rahul?

a. Son

b. Brother-in-law
c. Nephew

d. Cousin

Ans A 1
K B.2
K c3
W D4

Question ID : 4774414694
Status : Answered
Chosen Option : 4

Q44 Check out the given series and identify the next pair i the series:

NO,QR.TU, ?
a. WX
b WA
o HU
d: HT
Ans « A1
75 B.2
K ca3
KX D4

Question ID : 4774414695
Status : Answered
Chosen Option : 1

Q.45 Gopal started from his home and went 8 ks towards north. from where her turned to his
left and walked 2 kms. From this point he trned right and walked 4 kms. turned right again
and further walked 2 kms. How far is he from his home?

a. 12 km

b.  10km

g 14 km

d 8km

Ans o A1
5 B.2
K c3
K D.4

Question ID : 4774414702
Status : Answered
Chosen Option : 2

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802097/125802097S7D1615/16006683744003641/2...  18/45



9/23/2020 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802097/125802097S7D1615/1600668374...

Q46 IfHORSE is called PIG, PIG is called CAT, CAT is called RAT, RAT is called
ANT and ANT is called FLY, which of the following is used for riding?

Horse

Pig

Gk

Rat

an o

Ans A 1
B2
K c3
K D.4

Question ID : 4774414700
Status : Answered
Chosen Option : 2

Q.47 Raj goes 30 km towards North from a fixed point. then after tuming to her right she goes
15 km. Afier this she goes 15 km after nuning to her right. In whar direction is she from
her starting point?

a. East

b.  North-East
c. South-East
d. South

Ans A 1
B2
K c3
S D.4

Question ID : 4774414701
Status : Answered
Chosen Option : 1

Q48 Tf STORAGE is written EGAROTS, then how will SPECIAL be written?
a. LACIPES
b. LAICEPS
c. AIPECSL
d. None of the above
Ans XA 1
B2
K c3
N D4

Question ID : 4774414698
Status : Answered
Chosen Option : 2
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Comprehension:

Answer the next two guestions based on the fignre given below:

In figure below, triangle represents women, recfangle represents the employed and circle
represents the doctors.

SubQuestion No : 49

Q.49
Women doctors who are not employed are represented by

-

a. £
b. 4
C. y
d. 8
Ans A1

X B.2

o C3

X D4

Question ID : 4774414705
Status : Answered
Chosen Option : 3

Comprehension:

Answer the next two guestions based on the fignre given below:

In figure below, triangle represents women, recfangle represents the employed and circle
represents the doctors.

SubQuestion No : 50

Q.50 Women who are employed and are doctors are represented by the region labelled as:
a. 1

b.
c.
d.

Ans A1
W B2
]
X D4

VRN Y

Question ID : 4774414704
Status : Answered
Chosen Option : 2

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802097/125802097S7D1615/16006683744003641/2...  20/45



9/23/2020

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802097/125802097S7D1615/1600668374...

Comprehension:

Refer to the following table and answer the next five questions:

FPercentage of marks obramed in different sutbjects
Hindi | English | Maths | Social | Physics | Chem | Bio Foreign
Sc. Lang

Torai 150 150 150 125 75 fi) 73 a0
(students)

Ann 75 54 67 59 70 65 65 70
Bablu 83 95 92 87 84 74 74 77
Chintu 66 71 76 74 79 62 62 82
Deepa 62 36 70 66 71 64 64 S8
Garvita 58 75 62 &8 78 30 s0 64
Himanshi 58 60 64 54 70 60 60 60

SubQuestion No : 51

a.

b.
&
d

Ans A1

X B.2
K cs3
o D4

Chintu
Deepa

Garvita

Himanshi

Q.51 Who got the lowest marks in Physics, Chemistry and Maths combined?

Question ID : 4774414711
Status : Answered

Chosen Option : 4

Ans

Comprehension:

Refer to the following table and answer the next five questions:

FPercentage of marks obramed in different sutbjects
Hindi | English | Maths | Social | Physics | Chem | Bio Foreign
Sc. Lang

Torai 150 150 150 125 75 fi) 73 a0
(students)

Ann 75 54 67 59 70 65 65 70
Bablu 83 95 92 87 84 74 74 77
Chintu 66 71 76 74 79 62 62 82
Deepa 62 36 70 66 71 64 64 S8
Garvita 58 75 62 &8 78 30 s0 64
Himanshi 58 60 64 54 70 60 60 60

SubQuestion No : 52

ap o

o A
X B.2
X ca3
X D4

1

LS R ]

I

@52 How many students have scored highest marks in only one subject?

Question ID : 4774414709
Status : Answered

Chosen Option : 1
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Ans

Comprehension:

Refer to the following table and answer the next five questions:

FPercentage of marks obramed in different sutbjects
Hindi | English | Maths | Social | Physics | Chem | Bio Foreign
Sc. Lang

Torai 150 150 150 125 75 fi) 73 a0
(students)

Ann 75 54 67 59 70 65 65 70
Bablu 83 95 92 87 84 74 74 77
Chintu 66 71 76 74 79 62 62 82
Deepa 62 36 70 66 71 64 64 S8
Garvita 58 75 62 &8 78 30 s0 64
Himanshi 58 60 64 54 70 60 60 60

SubQuestion No : 53

a.
b.
&
d.

KA1
W B2
N c3
X D.4

1

2
3
4

Q53 How many students have scored highest marks in more than one subject?

Question ID : 4774414708
Status : Answered

Chosen Option : 3

Ans

Comprehension:

Refer to the following table and answer the next five questions:

FPercentage of marks obramed in different sutbjects
Hindi | English | Maths | Social | Physics | Chem | Bio Foreign
Sc. Lang

Torai 150 150 150 125 75 fi) 73 a0
(students)

Ann 75 54 67 59 70 65 65 70
Bablu 83 95 92 87 84 74 74 77
Chintu 66 71 76 74 79 62 62 82
Deepa 62 36 70 66 71 64 64 S8
Garvita 58 75 62 &8 78 30 s0 64
Himanshi 58 60 64 54 70 60 60 60

SubQuestion No : 54

a.
b.
C.
d.
25 A
X B.2
A3
o D4

Chintu
Himanshi
Deepa
Bablu

Q54 Who has scored highest marks in all the subjects together?

Question ID : 4774414707
Status : Answered

Chosen Option : 4

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802097/125802097S7D1615/16006683744003641/2...

22/45



9/23/2020 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802097/125802097S7D1615/1600668374...

Comprehension:

Refer to the following table and answer the next five questions:

FPercentage of marks obramed in different sutbjects
Hindi | English | Maths | Social | Physics | Chem | Bio Foreign
Sc. Lang

Torai 150 150 150 125 75 fi) 73 a0
(students)

Ann 75 54 67 59 70 65 65 70
Bablu 83 95 92 87 84 74 74 77
Chintu 66 71 76 74 79 62 62 82
Deepa 62 36 70 66 71 64 64 S8
Garvita 58 75 62 &8 78 30 s0 64
Himanshi 58 60 64 54 70 60 60 60

SubQuestion No : 55
@55 Who got the highest marks in Physics. Chemistry and Bio combined?

a. Bablu
b. Chintu
c Deepa
d. Garvita
Ans A1
X B.2
]
WD

Question ID : 4774414710
Status : Answered
Chosen Option : 4

Q.56 Tphe sum of ages of 3 children born at the interval of 2 years each is 48 years. What is the
age of the youngest child?
a. 12 years
b. 14 years
c. 16 years
d. 18 years

Ans XA 1
75 B.2
e
K D4

Question ID : 4774414713
Status : Answered
Chosen Option : 2

Q.57 Sanjay has to score 30% marks to pass an exam. He gets 45 marks and fails by 30 marks,
The maximuin marks of the exam are?
a. 100
b. 150
€. 200
d. 250
Ans A 1
X B.2
K ca3
v oW

Question ID : 4774414712
Status : Answered
Chosen Option : 4
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Comprehension:
Study the chart below and answer the next six questions:
Below is the chart depicting production and demand for laptops produced by five companies —
P.QR. TandU
Production & Demand (in ,000 units)
50
45
40 Production
35
30
25

20

Demand

SubQuestion No : 58

Q.58 To meet its demand the company P wishes to buy the surplus laptops from
a single company. Which of the following companies can supply?

a. Q
b. R
; T
d. U
Ans A1
X B.2
X cs3
of D.4

Question ID : 4774414716

Status : Answered

Chosen Option : 2
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Q.59 How much is the production as a percentage of total demand for laptops of the company

Ans {A.1

Comprehension:
Study the chart below and answer the next six questions:
Below is the chart depicting production and demand for laptops produced by five companies —
P.QR. TandU
Production & Demand (in ,000 units)
50
45
40 Production
35
30
25

20

Demand

SubQuestion No : 59

Q?
a. 66.6%
b. 40.8%
G 50.9%
d 60 7%

X B.2
X cs3
X D.4

Question ID : 4774414715
Status : Answered
Chosen Option : 1
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Comprehension:
Study the chart below and answer the next six questions:
Below is the chart depicting production and demand for laptops produced by five companies —
P.QR. TandU
Production & Demand (in ,000 units)
50
45
40 Production
35
30
25

20

Demand

SubQuestion No : 60

Q60 What is the approximate total demand of laptops of all the companies?
a. 112000 units

b. 128000 units
e 172000 umnits
d. 196000 units
Ans A1
X B.2
W cCs
X D4

Question ID : 4774414720
Status : Answered
Chosen Option : 3
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Comprehension:
Study the chart below and answer the next six questions:
Below is the chart depicting production and demand for laptops produced by five companies —
P.QR. TandU
Production & Demand (in ,000 units)
50
45
40 Production
35
30
25 Demand

20

SubQuestion No : 61
Q.61 The biggest difference in the production and demand is for which company?

X D.4

Question ID : 4774414719
Status : Answered
Chosen Option : 2
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Comprehension:

Study the chart below and answer the next six questions:

Below is the chart depicting production and demand for laptops produced by five companies —
P.Q.R.TandU

Production & Demand (in ,000 units)
50
45
40 Production

35

30
25 Demand

20

SubQuestion No : 62

Q.62 The demand for the company Q is approximately how much percentage of the
demand of company U?

a. 61%
b. 161%
(3 120%
d. 200%
Ans 3 A1
o B2
s c.3
X D4

Question ID : 4774414717
Status : Answered
Chosen Option : 2
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Comprehension:
Study the chart below and answer the next six questions:
Below is the chart depicting production and demand for laptops produced by five companies —
P.QR. TandU
Production & Demand (in ,000 units)
50
45
40 Production
35
30
25 Demand

20

SubQuestion No : 63
Q.63 The production of the company R is roughly equal to the combined product of

a. Pand T
b. Pand Q
c. Qand T
d. None of the above
Ans JA_ 1
X B.2
X cs
X D4

Question ID : 4774414718
Status : Answered
Chosen Option : 1

Q.64 . If a quarter kg of a vegetable costs Rs. 60. how many rupees will 200gm cost?

a. 42
b. 48
. 52
d. 62
Ans A 1
B2
K c3
K D.4

Question ID : 4774414722
Status : Answered
Chosen Option : 1
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Q.65 Two trains are travelling opposite to each other at a speed of 120 kmph and
80 knph, if the distance between them is 400 ki, at 3:30pm, at what time
the two trains will collide each other?

a 545 AM

b. 4.30 PM

£; 5.30 PM

d. 5.15 PM
Ans X' A 1
K B.2
s
S D.4

Question ID : 4774414725
Status : Answered
Chosen Option : 2

Q.66 Two numbers are in the ratio of 1:2. If 7 be added to both. their ratio
changes to 3:5. The greater number is:

a. 20

b. 24

C. 28

d. 32
Ans x A1
K B.2
s
S D.4

Question ID : 4774414729
Status : Answered
Chosen Option : 3

297 Find the value of 0.24 X 0.24 +3.24X 324-2X 0.7776

a. 9.04
b. 9.0
o4 9.4
d. 9.1
Ans XA 1
B2
K ca3
K D4

Question ID : 4774414730
Status : Answered
Chosen Option : 2
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Q.68 Find the simple interest on Rs. 12000 at 5 % per annum for 9 months.

a. 600
b. 450
o 550
d 320
Ans XA 1
B2
K ca3
K D4

Question ID : 4774414721
Status : Answered
Chosen Option : 1

Q.69 What would be the compound interest accrued on an amount of Rs. 4500 at the end of 2
years at the rate of 10% per annum?

a. 5435

b. 5445

c. 5345

d 5665

Ans A 1
B2
K c3
K D.4

Question ID : 4774414724
Status : Not Answered
Chosen Option : --

Q.70 There were 435 students in a hostel, if the numbers of smudents increased by 7. the expenses
of the mess were increased by Rs.39 per day while the average expenditure per head
dunmished by Re.1. What is the original expenditure of the mess (in Rs)?

a. 562
b. 3585
c. 650
d. 48

Ans X' A 1
B2
K c3
S D.4

Question ID : 4774414733

Not Attempted and
Marked For Review

Chosen Option : ==

Status :
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@ Find the Missing number in the series below
117, 144, 171. . 225, 252
a. 197
b. 196
&. 200
d. 198
Ans K a1
X B2
K c3
o D4

Question ID : 4774414726
Status : Answered
Chosen Option : 4

@72 Find the Missing number in the series below
2,06, 12, 20,30, 42, 56,

a. 61
b. 62
R |
d 72
Ans X' A 1
K B.2
K c3
WD

Question ID : 4774414727
Status : Answered
Chosen Option : 4

Q73 A man performs 1/4 of the total journey by car. 2/3 by bus and the
remaining 55 km by train. His total journey is?

a. 660
b. 640
C. 680
d. 670
Ans o A1
5 B.2
K c3
25 D.4

Question ID : 4774414731
Status : Answered
Chosen Option : 1
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Q.74 A person's salary was reduced by 20%. By what per cent should the salary be
increased in order to obtain his original salary?

a. 22%
b. 30%
4 27%
d. 25%
Ans X' A 1
K B.2
K c3
o D4

Question ID : 4774414732
Status : Answered
Chosen Option : 4

Q75 Approximation ((10.01 * 34.01) / 17.01) + 44.99 + 1.99=?

a. 27

b. A7

¢ 47

d. 67
Ans X A 1
5 B.2
K c3
D4

Question ID : 4774414723
Status : Answered
Chosen Option : 3

@76 Find the Missing number in the series below
3: 82, 248, 15,

a. 98
b. 108
3 128
d. 148
Ans ¥ A 1
B2
K c3
K D.4

Question ID : 4774414728
Status : Answered
Chosen Option : 2
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@77 Which is the smallest fraction among the following?
a. 7/9
b. 4/5
c. 6/7
d.. 913
Ans 3 A1
X B2
K c3
o D4

Question ID : 4774414734
Status : Answered
Chosen Option : 4

Comprehension:

Refer to the pie-chart below and answer the next five questions:

Various expenditures in Book Publishing

Promotion
cost, 10%
X

Printing cost,
20%

r

Royalty. 5% )

.~ Transportation
cost, 10%

Binding, 20% /

L Paper cost,
25%

SubQuestion No : 78

Q.78 If for an edition of the book, the cost of paper is Rs. 56250, then find the promotion cost
for this edition?
a. Rs. 20,000
b. Rs. 22,500
€ Rs. 25.500
d. Rs. 28,125

Ans X A1
B2
K c3
/5 D.4

Question ID : 4774414738
Status : Answered
Chosen Option : 2
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Comprehension:

Refer to the pie-chart below and answer the next five questions:

Various expenditures in Book Publishing

Promotion
cost, 10%

A\ Printing cost,
/- 20%

Royalty. 15% ~\

-~ Transportation
cost, 10%

Binding, 20%_/

28 Paper cost.
25%

SubQuestion No : 79

Q.79 [f for a certain quantity of books, the publisher has to pay Rs. 30,600 as printing cost, then
what will be amount of royalty to be paid for these books?
a. Rs. 19.450
b. Rs. 21.200
c. Rs. 22,950
d. Rs. 26.150

Ans XA_1
&~ B2
Wwecs
25 D.4

Question ID : 4774414737
Status : Answered
Chosen Option : 3
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Comprehension:

Refer to the pie-chart below and answer the next five questions:

Various expenditures in Book Publishing

Promotion
cost, 10%

A\ Printing cost,
/- 20%

Royalty. 15% ~\

-~ Transportation
cost, 10%

Binding, 20%_/
28 Paper cost.
25%

SubQuestion No : 80

@80 What is the ratio of promotions to royalty expenditures?

a 1:2

b I3

B 223

d. 15
Ans XA-1
X B.2
s
/5 D.4

Question ID : 4774414736
Status : Answered
Chosen Option : 3
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Comprehension:

Refer to the pie-chart below and answer the next five questions:

Various expenditures in Book Publishing

Promotion
cost, 10%

A\ Printing cost,
/- 20%

Royalty. 15% ~\

-~ Transportation
cost, 10%

Binding, 20%_/

28 Paper cost.
25%

SubQuestion No : 81

@81 Royalty on the book is less than the printing cost by:

a. 5%
b. 33.2%
c. 20%
d 25%
Ans x A1

5 B2

K C3

o D4

Question ID : 4774414739
Status : Answered
Chosen Option : 4
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Comprehension:

Refer to the pie-chart below and answer the next five questions:

Various expenditures in Book Publishing

Promotion
cost, 10%

A\ Printing cost,
/- 20%

Royalty. 15% ~\

-~ Transportation
cost, 10%

Binding, 20%_/

28 Paper cost.
25%

SubQuestion No : 82

Q.82 What is the central angle of the sector corresponding to the expenditure incurred on

printing?

a. 15 degrees

b. 24 degrees

¢ 54 degrees

d. 72 degrees
Ans A 1
X B2
X cs

o D4

Question ID : 4774414740
Status : Answered
Chosen Option : 4
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Comprehension:

The following table gives the percentage distribution of population of five states, P, Q, R,
S and T on the basis of poverty line and also on the basis of sex. Study the table and
answer the next three questions:

State %oPopulation below Proportion of Males : Females
Poverty line Below poverty line | Above poverty line
P 35 5.6 6:7
Q 35 3:5 45
R 24 12 25
S 19 3:2 4:3
T 15 53 3.2

SubQuestion No : 83

Q.83 Tf the male population above poverty line for State R is 1.9 lakh, then the toral population
of State R i5?

a. 4.5 lakh

b. 4.85 lakh
C. 5.35 lakh
d 6.25 lakh

Ans X A 1
X B.2
X cs3
o D4

Question ID : 4774414742
Status : Answered
Chosen Option : 1

Comprehension:

The following table gives the percentage distribution of population of five states, P, Q, R,
S and T on the basis of poverty line and also on the basis of sex. Study the table and
answer the next three questions:

State %oPopulation below Proportion of Males : Females
Poverty line Below poverty line | Above poverty line
P 35 5.6 6:7
Q 35 3:5 45
R 24 12 25
S 19 3:2 4:3
T 15 53 3.2

SubQuestion No : 84

Q.84 What will be the male population above poverty line for State P if the female population
below poverty line for State P is 2.1 lakh?

a. 2.1 lakh
b. 2.3 lakh
c. 2.7 lakh
d. 3.3 lakh

Ans X A 1
X B.2
K c3
of D.4

Question ID : 4774414744
Status : Answered
Chosen Option : 4
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Comprehension:

The following table gives the percentage distribution of population of five states, P, Q, R,
S and T on the basis of poverty line and also on the basis of sex. Study the table and
answer the next three questions:

State %oPopulation below Proportion of Males : Females
Poverty line Below poverty line | Above poverty line
P 35 5.6 6:7
Q 35 3:5 45
R 24 12 25
S 19 3:2 4:3
T 15 53 3.2

SubQuestion No : 85

Q.85 What will be the number of females above the poverty line in the State S if it is known that
the population of State S is 7.0 lakh?
a. 3.0 lakh
b. 2.43lakh
& 1.33 lakh
d.  5.7lakh

Ans A1
W B2
X ca3
X D4

Question ID : 4774414743
Status : Answered
Chosen Option : 1

Q.86 Which is the highest award given by Government of India in sports?
a. Arjuna award
b.  Dronacharya Award
¢.  Rajiv Gandhi Khel Ratna award
d Rashtriya Khel Protsahan Puraskar

Ans A 1

5 D.4

Question ID : 4774414759
Status : Answered
Chosen Option : 3
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@*7 The lower-most layer of atmosphere is called
a.  Stratosphere
b.  Mesosphere
c.  Thermosphere
d.  Troposphere
Ans X A 1
5 B.2
K c3
o D.4
Question ID : 4774414755
Sias: ot Atemmted and
Chosen Option : ==
2% The Lower House of the Indian Parliament is called
a. Lok Sabha
b.  Rajya Sabha
&) Vidhaan Sabha
d.  Parliament Secretariat
Ans  of A 1
5 B.2
K c3
K D4

Question ID : 4774414748
Status : Answered
Chosen Option : 3

% Which of the following is required for photosynthesis?
a. Chlorophyll
b. Sunlight
C. Water
d. All of the above
Ans A 1
5 B.2
K c3
W D4

Question ID : 4774414756
Status : Answered
Chosen Option : 4
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Q.90 The Chandrayaan — 2 mission of ISRO also included a lunar rover in addition to a lunar
orbitor and lander. The name of the lander was
a. Pragyan
b Vikiam
€ GSLV Mark III
d.  None of the above

Ans X A1
B2
X C3
/X D.4
Question ID : 4774414751
Status : Answered
Chosen Option : 2
91 . . ) ; .
Q Kyoto protocol is mainly concerned with which one of the following?
a. Maritime contracts
b Free trade agreements
¢ Anti-terrorisim agreements
d. Green-house gas reduction agreement
Ans XA 1
K B2
~ C3
o D4

Question ID : 4774414745
Status : Not Answered
Chosen Option : --

Q.92 Which of the following metals is mostly used for filaments of electric bulbs?

a. Copper
b. Silver
c. Nickel
d. Tungsten
Ans A 1
75 B.2
K c3
v S

Question ID : 4774414749
Status : Answered
Chosen Option : 4
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Q.93 Which of the following is the supersonic cruise missile jointly developed by India and

Russia?
a. Prithvi
b. Agni
C: Trishul
d. BrahMos
Ans A 1
K B.2
X C3

o D4

Question ID : 4774414752
Status : Not Answered
Chosen Option : --

@9 Dutee Chand is a known for his outstanding performances in

a. Gymmnastics
b. Javelin throw
C. Sprinting
d. Rowing
Ans A 1

5 B.2

v

KX D4

Question ID : 4774414750
Status : Answered
Chosen Option : 3

Q.95 Science concerned with study of celestial objects outside earth’s atinosphere is called
a. Astrology
b. Cosmology
G Astronomy
d. None of the above

Ans XA 1
5 B.2
e
K D.4

Question ID : 4774414754
Status : Not Answered
Chosen Option : --
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29 Bhoodan andolan was initiated by
a.  Lala Lajpat Rai
b.  Annie Besant
C. Acharva Vinoba Bhave
d.  Swami Vivekanand

Ans A 1

X B.2

\f C.3

D4

Question ID : 4774414747
Status : Not Answered
Chosen Option : --

Q.97

Guwahati is the located in which Indian state?
a. Arunachal Pradesh

b. Sikkim
G: Mizoram
d. Assam
Ans X' A 1
K B.2
K c3
o D4

Question ID : 4774414757
Status : Answered
Chosen Option : 4

Q9% A land mass swrounded by water from three sides is called

a. Plateau
b. Delta
£ Archipelago
d. Peninsula
Ans x A1
75 B.2
K c3
v S

Question ID : 4774414753
Status : Not Answered
Chosen Option : --
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@99 When is the International Women Day celebrated?
a. Second Sunday of March every vear
b.  March 8 of every year
o April 8 of every year
d.  Second Sunday of April every year
Ans X A 1
W B2
K c3
K D.4

Question ID : 4774414758
Status : Answered
Chosen Option : 4

Q.100 The Mandal Comimission was set up to

a. look into maters of judicial reforms
b.  look into maters of administrative reforms
e look into maters of land reforms
d.  to consider the question of reservations to backward classes
Ans A 1
5 B.2
K c3
W D4

Question ID : 4774414746
Status : Answered
Chosen Option : 4
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